MAC1105 College Algebra
1.6 Practice Problems

Solve the following equaﬁons : ~ ) x
1. 2)(5( ’?Dx Openl . x=0 L\“\UL;L X=  <plurny
o w aP-of  BE=0G] | oz

aia@ 2)=0 2(0)= L) 2(21) = ()
2 320 o=o  5¢= 54
“l 0 X -+ (oL
5 5 113 | Troe
V’E’?E =3
2. )E;I:%X —9x—18=0 O\(\J\L\»ﬁ' X=-2 QW (=3
XC(x42)-A(x 4270 (Frap-q@)—\$=0 ra[BY-a()1%70
A ()
(XY (x=9Y) = -t +% +\g>"<é TQ £ 21 ﬂ‘b 271~ ;‘;ww
(et (ABX D=0 Crael = | =
220 X132 X-3=O (AL G\Ciw 4= Qo luhonS
=2 ‘":i_»_mifj?‘»m 274162718 7C >3 |
3. V4x+16—-1=x 1 /ofﬁuﬁ
Tt T 2
s O =X~ u‘(\,w(;X:ES Cheeld X=-3
/ Lh(.ﬂ‘,ol-" Xl S 0= (%- 5’)@*5\ Vtorle -1=5  V&me -1 =-3
LT ) = O %ii*@ \“’t%”% Vot =1 =5 Vaztip -1 = 5
4xtly = Y2y 4] L A, V30-1=5 4 -l=-
Rt Y i ‘E%ijfw =6 X=-3 R I a9 - ::'“3
D= £ -2 s@xmv | §=5 \=-3
4. Jx—4+Vx+1=5 \ T‘%‘) Fmsf:
x-o =5- 4;;;“;"" R [
()= (5-vmm) -3o--mVT<T OM’M =%
-4 = (5 - W)L‘i*huﬁ ’“»7 o feo +VgH =5 o
X=4 =35 =Sxf] -5Vx3) + x+) 3= V31 % +({§ =65 %o%
f?i";{,” 3% _so\(—“‘”‘ £ % 5 Sl >+ 3=5
J: 19 —?“xﬂ %?’MS
PN 3T~ . VE
5. 2x2-16=0 — =X Te
AV -lb=0 - ‘
o tlo
X:f/([
Al =10 U’ML
> @ 2w —lb=
ne=e Vg —1=0
LW)T;% ;p% =0
x"= 04 lo—llo=0
5{'*—"""3 ”:ﬁ"’jf“'" O;‘:{D
xy = uiw Tyot



2
6. 1 —25=0

x> _as=0

+as +42<
3[xF =25
\F 2
(@) = as
7. x*=13x+36=0
=X -2 -
OE--wH =0
(X432 LA =0
V420 X3 T0 XARZO X720

(=5 K= (=~ K=
2 1
8. 3 3 e Ve
POFPEHIE0 ) U=
4
w=
4w S=0 ¢ x=-1
AU Tur o= Ol X

(o S+ 1H=0 | 5 L3{T 450

: —
AL TOTO \ 2307 4 TED
(= A= _ —

e B \5%
i X 7= e
‘v}wi‘; e 7 x .
= AX =7 B \ \ _ —125
Va_ -2 PREC I Chegle X= "7

, . : { v =0
[/5{_/ ';-—,l/\—d‘i 2% 'Dii{ ‘\—;;\922_ _}r 7 \ ’ﬁ 75
\Ix 1T\ = \ ~ot o
\ 5 \\\ TS24 ij":
.25 4S5
?,f‘ A'/ w::;"“ B ':;O
T 0 tS 7
e
,C)%(\? _ O
Sk



